|
o
N

T

1/0d/ d N dp™" [1GeV]
S S

107

107°

Ratio to ATLAS

0.5

13000 GeV pp tt
| I I I | I I I | I I I | I I I | 9
— — %
- ptTtbar (ATLAS semileptonic ttbar) 14z
H 1=
Lo
| 1
- N
=)
—
— 1
— o
=
B e
= ke
| ™
— <
o™
B 1o
— —1o
™
— <
B ATLAS >%
L ---0-- Pythia 6.428 345 —s
= i+ Pythia 6.428 346 — <
— —A— Pythia 6.428 370 <
— Pythia 6.428 default — 8
[%)]
B 12
o
| ] (@]
—| | | | | | | | | | | | | | | | = =
:l T T T | T T T | T T T | T T T |:
— =2
1
L —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
0 200 400 600 800

ptbar{t}T [G eV], |\l'ets -6



	Contents
	Page 1


